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Problem:- (1)
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Shear force Diagram:
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Bending Moment Diagram:
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Problem:- (2)

[image: ]


Shear Force Diagram:
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Bending Moment Diagram:
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Problem:- (3)
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Shear Force Diagram:
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Bending Moment Diagram:
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Problem:- (4)
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Shear Force Diagram:
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Bending Moment Diagram:
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Problem:- (5)
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Shear Force Diagram:
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Bending Moment Diagram:
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Problem:- (6) A bar consisting of three lengths. Find the stress in the three parts and the total extension of the bar for an axial pull of 40kN. Take 
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Stress Diagram:
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Strain Diagram:
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Problem:- (7)Consider the bar in fig. loaded as shown. Determine the nodal displacement, element stress and support reactions. Solve this problem by using ANSYS (APDL) Software.
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Nodal Displacement Solutions:-	
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Support Reactions Solutions:-
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Element Stresses Solution:-
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Problem:- (8)Consider the bar in fig. loaded as shown. Determine the nodal displacement, element stress and support reactions. Solve this problem by using ANSYS (APDL) Software.
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Nodal Displacement Solutions:-
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Support Reactions Solutions:-
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Element Stresses Solution:-
[image: ]




[image: ]
[bookmark: _GoBack]


[image: ]
image3.png
ANSYS

ATG 14 2015
10:39:33

sMIse  suIsis

MIN —-2000 e
ELEM=13
WX —-500
ELEM=344
T ———— R
66-667

833 a3z —s00

_1833.33





image4.png
' ANSYS

ATG 14 2015
¥

sMIss  suIsie x

MIN =-.269E+07

ELeMe1

WX —-1250

ELEM=400





image5.png
1kN/m

2m

2.5kN

Josn |





image6.png
LINE STRESS

sMIse  suIsis
MIN =-7500
ELEM=TS

MAX =-2500
ELEM=394

500

ANSYS

ATG 14 2015
12:38:40

694414

638885,

_se33.33

_a722.22





image7.png
suIsie
MIN =.225E+08
ELeMe1

MAX =6250
ELEM=400

ANSYS

ATG 14 2015
12:57:08





image8.png
10 kN/m

Ai
10 kN/m





image9.png
ANSYS

ATG 14 2015
21:20:38

¥

25 5569.42 11113.9 16658.3 22202.8
2797.22 8341.67 13886.1 19430.6 24975




image10.png
"ime steess ANSYDS

ATG 14 2015
21:24:53

sTER=1
SUB =1

TIME-1

sMIss  suIsie
MIN =62.5
ELEM-1000

"1352+08
e9aE407

78E+08 "4172+08 “ssezton
aa7Es08 smezs08 ezezs08





image11.png
4000N/m

L1111 —

je— 1.5m >1< - 1.Sm —e——— 2m ———]




image12.png
BUNE

ATG 14 2015
21:36:05

LINE STRESS

suse swisis Y
MIN =-3434.33 x
ELEM-100

MBX =2565.67
ELEM=220

=Ty 2100 767662 565.671 1855
1434 33 100956 123234 265 67





image13.png
LINE STRESS

sTER=1
SUB =1
TIME-1
sMIss  suIsie
MIN =.391E407
ELeMe1
MEX =.269E+07
ELeM-15e

ATG 14 2015

21:38:08




image14.png
10 kN/m C
HHHHHHHHHHHGMHH}H :
A TFFTTFEETeHt
AT

B

4m ":‘ 4m

V,= 10kN | Vi, = 50 kN




image15.png
1o stasss ANSYS

ATG 14 2015
22:03:59

sMIse  suIsis
MIN —-57085 x

57088 394405 217961 —a1sl.e2 138522
_48262.7 _30618.3 _12073.8 4670.6 22315




image16.png
LINE STRESS
ATG 14 2015
22:06:04

sTER=1
e
TIME-1

suiss swisie
MIN =.260E+08
ELEM-129

MEX =.55SE408
ELEM=200

T —— T





image17.png
’.— 180mm ——+——— 260mm - —-i- 160mm -‘





image18.png
LINE STRESS

sE 9 2005
o

sTER=1
sus =1

1M=L

STRESS STRESS o
MIN =38.216

ELeM=3

MAX =127.324

2

109.744 127.324




image19.png
Lo steess NNSYS
see s 2o
sera4:26

zesE-03 373E-03 se1E-03 sasE-03 e37E-03




image20.png




image21.png
PRINT U HODAL SOLUTION PER HODE
eeeePOSTL NODAL DEGREE OF FREEDDN LISTING wwe

LR STEP- 1 SUESTEP= 1
TIHE=  1.0000  LOAD CASE= O |

THE FOLLOING DECREE OF FREEDON RESULTS ARE IN THE CLOBAL CODRDINATE SYSTEN

WE W
10000
2 0.6
3 034615
4 .00

[N RSO LS
HODE
A





image22.png
PRINT REACTION SOLUTIONS PER NODE
et POSTL TUTAL REACTION SOLUTION LISTING e

LR STEP- 1 SUESTEP= 1
THE L0000 LORD CASE= O

THE FOLLONTNG ¥,Y,2 SOLUTIOHS ARE. IH THE GLOBRL COIRDTVATE SSTEH
WE B Fr 4

10200646 0.000  0.0000

4 -GEm. Lm0 0o

TUTAL ALLES
VAL 0300645 0.0000  0.0000




image23.png
PRINT ELEHENT THELE ITEHS PER ELEHENT
Joeen POSTL ELEAENT THBLE LISTING et

ST CIRRENT
EEfHEEER
1oy
2 -0
3 -

HINIHM VRLUES
B 2
URLE 369,23

HRRIN VRLLES
ELE 1
VLE 8077




image24.png
sz s 2us
052281

imom gows

B 623077

Suseon  kx sose

S Tesoes

297.436 564.103 830769




image25.png
N

400 mm?

250 mm?2
300 kN 600 kKN
*—> ~—— —_— X
7
150 mm {150 mm | 200 mm | 200 mm
— -~ |4 3.5 mm

E = 200 X 10° N/m2




image26.png
PRINT U NODAL SOLUTION PER HOE
eeeePOSTL NODAL DEGREE OF FREEDDN LISTING wwe

LR STEP- 1 SUESTEP= 1
THE L0000 LORD CASE= O

THE FOLLOING DECREE OF FREEDON RESULTS ARE IN THE CLOBAL CODRDINATE SYSTEN

WE W
1000
2 o
3 4
4 6000
5 6000

[N RSO LS
HODE
e c.om0





image27.png
PRINT REACTION SOLUTIONS PER HODE
et POSTL TUTAL REACTION SOLUTION LISTING e

LR STEP- 1 SUESTEP= 1
THE L0000 LORD CASE= O

THE FOLLONTNG ¥,Y,2 SOLUTIOHS ARE. IH THE GLOBRL COIRDTVATE SSTEH

WE B 4
§ oomess ol 0.0

TOTAL YALLES
VRLLE -D.90000E-05 0.0000 .00





image28.png
PRINT ELENENT THELE ITENS PER ELERENT
Joeen POSTL ELEAENT THBLE LISTING et

ST CIRRENT
EEfMEEER
1 w000
2 on
3 00
4 Lo

HINIHM VALUES
B 4
WRLE 00000

HRRIN VRLLES
ELE 1
WLE  3600.0




image29.png
e soTon >YS
st s 2o

2 2600 3 1500 s o s

o 200 1600 2400 5200
400 1200 2000 2800 3600




image1.png





image2.png
800N 500 N
l 05m l 05m l

300N

400 N

0.5m

)

0.5m

A

¢

00 Nm

M;;

27




image30.png
s india WR \nsiitute of Technology
—

For Te
G G

on
or anka) Kumar
\Pt‘\nc‘\pa\)

porw?




